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QUESTION 1

What would happen if the ProxySG did not use surrogate credentials to authenticate users who use transparent proxy
connections?

A. They would not be able to authenticate to the ProxySG

B. The ProxySG does not need to use surrogate credentials to authenticate users who use transparent proxy
connections

C. They would have to reauthenticate for each domain that they access
Correct Answer: C

Reference: https://origin-symwisedownload.symantec.com/resources/webguides/proxysg/6.6/
reverse_proxy_webguide/Content/Topics/Tasks/Authentication/surrogate_credentials_co.htm

QUESTION 2

When a browser is configured to use an explicit proxy connection to the ProxySG, incoming HTTPS traffic from that
browser is intercepted by which proxy service?

A. SSL

B. HTTPS

C. TCP Tunnel
D. Explicit HTTP

Correct Answer: B

QUESTION 3

Where would you look to find a record of all of configuration changes, as well as which administrator account committed
those changes?

A. Statistics > Advanced
B. Active sessions

C. Event log

D. Access log

Correct Answer: C

QUESTION 4
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Does the policy trace flag malfunctioning policy?
A. Yes
B. No

Correct Answer: B

QUESTION 5

A newly-shipped physical ProxySG contains what type of license?
A. Trial

B. Demo

C. Permanent

D. Provisional

Correct Answer: A

Reference: https://origin-symwisedownload.symantec.com/resources/webguides/proxysg/6.2/
acceleration_webguide/Content/02Tasks/Maintenance/view_license_information_ta.htm

QUESTION 6

In an explicit ProxySG deployment, the TCP packet sent from the client to the ProxySG contains what value as the
destination IP address?

A. The answer depends on whether client IP address reflection is enabled on this ProxySG
B. The IP address of the client

C. The IP address of the origin content server

D. The IP address of the ProxySG

Correct Answer: D

QUESTION 7

Which type of authentication realm does not require communication with an external authentication server?
A. IWA realm

B. Kerberos realm

C. Local realm

Correct Answer: C
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QUESTION 8

Where does ProxySG object caching usually result in the most bandwidth savings?
A. On the server side

B. On the client side

Correct Answer: B

Reference: https://wikileaks.org/spyfiles/document/bluecoat/259_blue-coat-systems-proxysg-applianceconfiguration-
and/259_blue-coat-systems-proxysg-appliance-configuration-and.pdf (46)

QUESTION 9

What happens when the ProxySG bypasses traffic?
A. No policy can be applied

B. Only the default policy can be applied

C. The traffic is blocked

D. An exception message is displayed to the user

Correct Answer: D

QUESTION 10

Which built-in tool would you use to monitor external resources?
A. Sysinfo

B. Health checks

C. Event log

D. SNMP

Correct Answer: D

QUESTION 11
In which client connection type are user agents aware that a proxy has been deployed?
A. Explicit proxy

B. In every connection type
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C. Inline
D. Transparent

Correct Answer: A

QUESTION 12

What is typically the biggest load on CPU?
A. MD5

B. Emulating certificates

C. Using RSA

D. SHA-2

Correct Answer: C

QUESTION 13

If you lose the password to the setup console, which of these methods can be used to regain access to the setup
console? (Choose three.)

A. Open a serial connection, and use the CLI command restore-defaults factory-defaults
B. Use the appliance reset button, if available on this model

C. Use the front panel buttons and screen, if available on this model, to reset the password
D. Press Control + ALT + DEL

Correct Answer: ABC

Reference: https://wikileaks.org/spyfiles/files/0/213_BLUECOAT-810 _install_guide_4.x_5.x.pdf

QUESTION 14

How does the Management Console perform commands on the ProxySG?
A. None of these answers

B. By using proprietary APIs to perform function calls on the ProxySG

C. By using Content Policy Language to control the ProxySG

D. By generating the appropriate CLI commands and executing them

Correct Answer: D
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QUESTION 15

What stops further rule processing in a layer?
A. When the final rule on the layer is reached
B. When two rules match

C. When a later rule contradicts an earlier rule
D. The first rule in the layer that matches
Correct Answer: D

Reference: https://origin-symwisedownload.symantec.com/resources/webguides/sgos/policy/Learn/
aboutlayerandruleeval/layerguards.htm
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